FmT R

GRIP-G

SRR ERERS

WA R B E e R R A RIR A R
MIVRIARAES), BRTIER. K. RKEE
TUELRE, TEEMRELNTEEL,
RERSRENTTRER,
BN EEEEEREATEENMEEE
A 26.9mm~609.6mm.

o= AlISI 304 AISI 316L 3P1\|6S_I|_I AISI 316L 3A‘;IGS.II.I
121 AISI 304 AISI316L AISI316L AISI304 AISI 304
& AISI 304 AISI316L AISI316L AISI304 AISI 304
Wik AISI 301 AISI301 AISI301 AISI301 AISI 301
Mk (nIE) AISI 301 AISI301 AISI301 AISI301 AISI 301
&iE:

10 R ARIER &R ES AISI 316L/316T]

2 B ERERBSERIIRERE

10 | &



FmT e

GRIP-G

ERTE Eese FanE THEZP  zznesas

HOE

A hn
Min-Max s wEp
— 26.9 1059  26-28 18 46 43 61 26 58 10 8
30 1181 29-31 18 46 46 61 26 58 10 8 M6x2
33.7 1.327 3235 18 40 50 61 26 58 10 8
=) 1496 37-39 18, 3 57 a1 28 58 10 18
424 1669  41-43 18 32 61.3 61 26 58 10 15
445 1752 44-46 18 32 63.4 61 26 58 10 15
48.3 1902 4749 18 32 67.2 61 26 58 10 15 M8x2
54 2126 53-55 18 32 73 76 37 5-10 15 10
57 2244  56-58 18 32 76 76 37 5-10 15 10
60.3 2374 59-61 18 32 79.2 76 37 5-10 15 10
66.6 2622 64-68 18 32 88.7 95 37 5-10 25 20
70 2756 68-T1 18 32 92 95 41 5~10 25 20
73 2874 7274 18 32 95 95 41 5-10 25 20
761 2996 7577 18 32 98.2 95 41 5-10 25 20
79.5 3130  78-81 18 32 101.6 95 41 5-10 25 20
84 3307 8385 18 32 106 95 41 5-10 25 20 MExo
88.9 3500  87-91 18 32 111 95 41 5-10 25 20
1006  3.961  99-102 16 32 123 95 41 5-10 25 25
1016 4.000  100-103 16 32 123.7 95 41 5-10 25 25
104 4094  103-105 16 32 126 95 41 510 25 25
108 4252 106-109 16 32 130 95 41 5-10 25 25
1143 4500  113-116 16 32 136.4 95 41 5-10 25 25
127 5000 126-128 16 25 151 110 54 5-10 35 40
129 2079 126130 16, 25 153 119 s F15 3 40
1302 5126 129132 16 25 154.3 110 54 515 35 40
133 5236  131-135 16 25 157 110 54 515 35 40
1397 5500  138-142 16 25 163.8 110 54 515 35 40 M10x2
1413 5563  140-143 16 25 165.4 110 54 515 35 40
154 6.063  153-156 16 25 176.4 110 54 515 35 40
159 6.260 158161 16 25 183 110 54 515 35 40
1683  6.626  167-170 16 25 189 110 54 515 35 40
1937 7626 192196 10 22 215 142 80 15-20 40 60
200 7.874  198-202 10 22 222 142 80 15-20 40 60
204 8.031 202206 10 22 224 142 80 15-20 40 60
206 8110 204208 10 22 234 142 80 15-20 40 60
2191 8626 216222 10 22 250 142 80 15-20 40 60
2445 9626 242247 10 20 275 142 80 15-20 40 60 M12X2
250 9.843  247-253 10 20 279 142 80 15-20 40 60
254 10000 251257 10 20 282 142 80 15-20 40 60
256 10079 253-259 10 20 284 142 80 15-20 40 60
267 10512 264270 10 20 207 142 80 15-20 40 60
273 10748 270276 10 20 303 142 80 15-20 40 60

&=
MESHIEER, BHEATHLEM.

0 smmmmmasa TR, WREN R 4 GO TIERD.
(M) TunEREsmIrED, WRENN 15 FOTEED,
ARHEEAER, BARGTAMME AN REEFLOEMEFZE. TRNNEERIHEREMmA .

BB [ 11

Gome ot



